



Why is the M/M/1 queue so easy to analyze while the analysis of the M/G/1 queue is substantially more difficult ?

• State description for M/M/1 is simple as one needs just one number (i.e. the number in the system) to denote the system state.

• This is possible because the exponential service time distribution is memoryless and service already provided to the customer currently in service need not be considered in the state description.

• This is not true for the M/G/1 queue. Its general state description would require specification of both the number currently in the system and the amount of service already provided to the customer currently being served.

Copyright 2002, Sanjay K. Bose

3

M/G/1/ ∞ Queue:Single server, Infinite number of waiting
positionsService discipline assumed to be FCFS unless otherwise specified.
Mean results same regardless of the service disciplineArrival Process:Poisson with average arrival rate 1
Inter-arrival times exponentially
distributed with mean 1/1Service Times:Generally distributed with pdf b(t), cdf
B(t) and L.T. $[b(t)]=L_B(s)$



Consider a particular arrival of interest entering the M/G/1 queue
Let
$$r = (random)$$
 residual service time of the customer (if any)
currently in service
 $R=E\{r\}$ Mean Residual Service Time
Then $W_q = N_q E\{X\} + R = I W_q E\{X\} + R$
 $W_q = \frac{R}{(1-r)}$
where $r = I E\{X\} = I \overline{X} = \frac{1}{m}$
We still need to find R to find W_q . However, once W_q is known, the
results $N_{q'}$ N and W may be found directly from that.











• Choose *imbedded time instants* t_i $i=1, 2, 3, \dots, \Psi$ as the instants just after the departure of jobs from the system (after completing service)

• At these time instants, we can describe the system state by the number in the system, i.e.

 n_i = Number left behind in the queue by the *i*th departure

• We can easily see (shown subsequently) that the sequence n_i forms a Markov Chain, which can be solved to obtain the equilibrium state distribution at these specially chosen time instants ("the departure instants")

Copyright 2002, Sanjay K. Bose

Useful Results Applicable to the M/G/1 QueueKleinrock's Result:For systems where the system statecan change at most by +1 or -1, the system distribution as seenby an arriving customer will be the same as that seen by adeparting customerState Distribution at the Arrival Instants will be the same asthe State Distribution at the Arrival Instants will be the same asthe State Distribution at the Departure InstantsPASTA:Poisson Arrival See Time AveragesState Distributions and Moments seen by an arrivingcustomer will be the same as those observed at an arbitrarilychosen time instant under equilibrium conditions

Copyright 2002, Sanjay K. Bose

12

11















• It will hold at the customer arrival instants (Kleinrock's Result)

• It will also hold for the time averages or at an arbitrary time instant under equilibrium conditions

Expressing

 $P(z) = \sum_{i=0}^{\infty} a_i z^i \qquad (Taylor Series Expansion)$

We can obtain $a_i = P\{i \text{ customers in the system}\}$ under equilibrium conditions

Copyright 2002, Sanjay K. Bose

19



$$N = \mathbf{r} + \frac{\mathbf{l}^2 \overline{\mathbf{X}^2}}{2(1 - \mathbf{r})} \implies \begin{pmatrix} W = \overline{X} + \frac{\mathbf{l} \overline{X}^2}{2(1 - \mathbf{r})} \\ W_q = W - \overline{X} = \frac{\mathbf{l} \overline{X}^2}{2(1 - \mathbf{r})} \\ N_q = \frac{\overline{X}^2}{2(1 - \mathbf{r})} \end{pmatrix}$$





Substituting
$$s = (\mathbf{1} - \mathbf{1}z)$$
 $L_T(s) = \frac{s(1 - \mathbf{r})L_B(s)}{s - \mathbf{1} + \mathbf{1}L_B(s)}$ (3.15)
Substituting $T = Q + X$, $Q^A X$ and $L_B(s) = E\{e^{-sX}\}$
 $L_Q(s) = \frac{L_T(s)}{L_B(s)} = \frac{s(1 - \mathbf{r})}{s - \mathbf{1} + \mathbf{1}L_B(s)}$ (3.16)
 $L_T(s)$ and $L_Q(s)$ are the L.T.s of the pdfs of the total delay and the queueing delay as seen by an arrival in a FCFS M/G/1 queue.
An alternate approach for deriving $L_T(s)$ and $L_Q(s)$ may be found in Section 3.7















For the case
where the
arrival A
comes to a
non-empty
queue
$$E\left\{e^{-sD_1}\right\} = \int_{y=0}^{\infty} E\left\{e^{-sD_1} \left| D_0 = y\right\} f_{D_0}(y) dy$$
$$= \int_{y=0}^{\infty} \left[\exp[-y\{I - IL_{BP}(s)\}] f_{D_0}(y) dy$$
$$= L_{D_0}(I - IL_{BP}(s))$$
Using (3.21), we then get
$$E\left\{e^{-sD_1}\right\} = \frac{1 - L_B(I - IL_{BP}(s))}{\overline{X}(I - IL_{BP}(s))}$$
(3.22)
Copyright 2002, Sanjay K. Bose